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BTTEA 8 z &t

A& LT 1,037 1,098 2,135
J\EHT 1,482 1,595 3,077
J\ B HT 803 828 1, 631
J\RHT 398 359 157
1By HT 125 659 1,384
FAB1TH 598 586 1,184
FAHT2TH 853 928 1,781
FABT3TH 920 960 1,880
FAHT4TH 556 511 1,067
=) 4N 472 943
FTAMET 1 TH 692 633 1,325
FTAMET 2 TH 508 589 1,097
FTAMET 3 TH 556 515 1,07
TAMET 4 TH 591 630 1,221
T i BT 616 617 1,233
Z SRR T 226 228 454
PN i1 390 381 A
ZRHT 169 799 1,568
FTAEILET 1 T H 520 523 1,043
FTTAEILET 2 T H 838 826 1,664
FTTAEILET 3T H 805 150 1,555
FH BT 166 61 2217
Eoil] 449 457 906
BAtRET 1 T B 999 939 1,938
BAtRET 2 T B 970 1,014 1,984
BR#ET 3 T B 615 586 1, 201
BAfRET 4 T B 1,209 1,278 2, 487
FZRET1TH 2,030 1,983 4,013
FZRET2TH 1,252 1, 166 2,418
FZRET3TH 886 817 1,703
FRET4TH 130 195 1,525
ST 54 48 102
AEHT 417 473 890
= I HT 170 156 326
rp BT 153 123 2176
£l 412 395 807
il 107 636 1,343
3 T 1,114 1,047 2, 161
i 0:0) 1,214 1,157 2, 371
R T 303 291 594
FA#THT 252 209 461
/INPAHT 188 1317 1,525
=81 TH 858 880 1,738
=fr2TH 894 948 1,842
=l 3TH 1,140 1,149 2,289
=frT4TH 1,111 1,207 2,318
rh EF T 1,673 1,815 3, 488
BEHT 1 T B 1,294 1,240 2,534
BElT 2 T B 818 829 1,647
BElT 3 T B 418 409 827
FHELUE1ITH 576 593 1,169
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BTTEA 8 z &t
PHELE2TH 125 625 1, 350
PHELEITH 958 1,358 2,316
PELET1TH 149 150 1,499
hEHLET2TH 634 574 1,208
HEHLET3ITH 601 657 1,258
PEHLET4TH 915 923 1,838
HELETSTH 682 642 1,324
AHMHEET1TH 1,474 1,533 3,007
AHMHEET2TH 594 537 1,131
AHMHEBT3TH 1,097 992 2,089
AHMHEET4TH 532 522 1,054
AHMHEBTSTH 947 898 1, 845
AHMHEET6 TH 1,414 1,196 2,610
AFHEET7 TH 192 166 1,558
=T R 588 664 1,252
HoRHET 2,047 1,870 3,917
5 )| ET 524 577 1,101
BRI HT 4,950 4,947 9,897
#)RHET 1,408 1,493 2, 901
= T 1,262 1,204 2, 466
A% )| T 117 124 241
78,5 )11 BT 294 307 601
EsEM 490 533 1,023
BT 316 285 601
THA 1,184 1,059 2,243
THA2TH 1,123 958 2, 081
THA3TH 1,322 1,526 2, 848
LR 1,109 1,066 2,175
EHAR2TH 891 906 1,797
EHARITH 2,373 2,137 5110
il 363 344 107
BE7K 139 122 1, 461
5Ek2TH 2,956 3,164 6, 120
MmAR1TH 662 541 1,203
MmARNR2TH 1,066 882 1,948
MmAR3TH 1,576 1,926 3, 502
MmARNRA4TH 1, 665 1, 931 3, 596
MmARS5TH 2, 064 2,224 4,288
HEp 1,676 1,406 3,082
(N 3,013 2, 855 5, 868
BFr1TH 4,502 4,854 9, 356
BFr2TH 3,732 4,168 7,900
mEe1TH 347 384 131
mEe2TH 612 674 1, 286
mkse 3TH 382 443 825
YE 2N 1,348 1,333 2, 681
E2N2TH 605 416 1,021
E2N3TH 1,372 1,163 2,535
R 2,011 1,752 3,763
KiF 3,063 2, 805 5, 868
BES 1,221 1,363 2,584
mhra 2,122 2,280 4,402
lf A HT 1,393 1,371 2, 764
BYEHET 1 TH 816 902 1,718
BYEHET 2 T H 1,142 1,274 2,416
EYEHET 3 TH 1,534 1,568 3,102
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BTTEA 8 z &t
AYEHET 4 T H 1,042 1,035 2,077
AYEAT5 T H 1,211 1,185 2, 396
1L1 E T 1, 150 1,093 2,243
HLAE1TH 929 1, 061 1,990
HLAE2TH 1,096 1,274 2,370
HLAE3TH 598 694 1,292
HLAE4TH 128 828 1, 556
REHT 5, 340 6,213 11, 553
WILF1TH 354 398 152
WILF2TH 392 418 810
Tk i ET 2, 601 2,827 5,428
A EB BT 3,628 3, 643 1,271
AEHT 5,226 4, 651 9,877
< HHT 2,705 2,749 5, 454
P, NieL:i] 198 188 1,586
R HESFHT 2,240 2,187 4,421
&S 1,493 1,505 2,998
A EAHT 2,236 2,218 4, 454
o 2 BT 1,152 1,099 2, 251
25 T 151 832 1,583
SR T 1,353 1,394 2,747
18 ) | BT 4,542 4,674 9,216
0 Wil ] 1,923 1,773 3, 696
J11 BT 1, 031 1,072 2,103
T/\EFHT1TH 936 892 1,828
T/\EFHT2TH 2,309 2, 355 4, 664
T/\EFHT3TH 1,558 1, 651 3,209
TESH] 2,932 3, 053 5,985
£ B75HT 336 322 658
78 5F S HT 2,533 2,453 4, 986
NE i) 102 94 196
JI1 5 BT 5, 254 5,218 10, 472
L JIET 686 692 1,378
ABH 2, 660 2,818 5,478
483 [ BT 3, 642 3, 681 1,323
5 LLIET 1,175 1,278 2, 453
I HT 57 40 97
= AHT 898 740 1,638
FEILET1TH 389 230 619
FEILET2 TH 251 306 557
1T HT 131 157 288
A FrHy 607 616 1,223
HDOVE1TH 320 350 670
HDONE2TH 637 680 1,317
FARET1TH 128 624 1,352
FARET2TH 346 317 663
FAARBT3TH 249 254 503
MEET1TAE 214 213 427
MEET2TH 54 56 110
= THT 595 615 1,210
F RRHET 654 611 1,265
= A T 176 145 321
/N EE 1 T 2,924 2,746 5,670
aw-1:] 5274 5,270 10, 544
BHAE1TH 231 231 468
BHAE2TH 409 472 881
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BT B % 5 % 5t
HEESTH 374 396 770
SR 25 25 50
HHFH1TH 685 670 1,355
#5HFH2TH 363 373 736
HEHFHITH 746 773 1,519
#15#%H4TH 872 881 1,753
#7755 T B 917 959 1,876
#7756 T B 287 374 661
E®#i1TH 514 514 1,028
E®i2TH 362 331 693
tE1TH 358 356 714
tE2TH 447 499 946
tE3TH 547 568 1,115
tE4TH 721 758 1. 479
tE5TH 733 801 1. 534
tE6TH 813 831 1. 644
E[A L] 3,372 3, 054 6, 426
$THRRAT 3,971 4,022 7,993
tHE1TH 570 675 1. 245
tHE2TH 524 577 1. 101
tHE3TH 620 719 1.339
tHE4TH 473 514 087
tHE5TH 700 769 1,469
RAA 3,270 3,372 6, 642
wrE1TH 959 1,024 1.983
@y E2TH 845 910 1,755
B E3TH 693 754 1. 447
=af 1,436 1,345 2. 781
I 4,541 4,178 8,719
i AH 1,379 1,317 2. 696
SR 163 171 334
INETET 2, 261 2,170 4, 431
AELET1TH 1,104 1,134 2,238
AEILET2 TH 1,056 1,123 2.179
A HE 1,612 1,494 3,106
AL LLET 511 519 1.030
S 234, 136 236, 640 471, 376




